Math 002-08, Quiz 3 (6.2 - 6.6), Term 151 , Instructor: Sayed Omar Page1l 22-Oct-15
Serial #: ID NAME
Show all necessary steps for full marks.

Question 1: (4 points) (6.2 Textbook Exercises 12-16): Find the exact value of the following:

@: =2 (o) cos(-%”j:? (©): tan( 173”)4 (A): cos 7 =2

Solution:
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cotangent is negative. Thus, in quadrant I, the reference angle is
S T — 27 37 2m =«
cot —— = —cot — = —f3. ;&'—T: —— L@ =3 In quadrant I1, the
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, . Sz ] cosine is negative. Thus,
Converting o to degrees, we have .

_ Az 2m T 1
512' 5 cos —TJ:CUST:—CGS?:—;.
(] 3()") =150°. The reference angle is 2 : : <

180° — |50° 30°. Thus,
cot %“ = cot 150° = — cot 30° = /3.
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14. — is coterminal with 15. is in quadrant IV, the reference
177 177 187 =« T T# 87 In =&
———+b6r=———+—=—. Since — is dﬂ‘TlLIS 7r——=—-——="—_1In
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: _ T e quadrant I'V, the cosine is positive. Thus,
in quadrant I, 3 is the reference angle. In
: . .. 1 T J—
quadrant I, the tangent is positive. Thus, COS—— =COS— =——.
177 T .7 -
lun[—— |= tan — = /3. Converting = to ]
3 ) 3 3 Converting to degrees, we have
7 1 v
degrees, we have — = —(] 80°) = 60°. Thus, T 1 R ) .
33 (I8()°) 315°. The reference angle is
n . 4 4
tan == tan 60° = /3. 360°—315° = 45°. Thus,
' 1 . 2
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tan —T = tan ? =3, 4 2
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Question 2: (5 points): (6.5 Additional Exercise 10):
(a): Graph the function vy :3tan(2x +%} Over the Interval {—1 Z}

(b): Find the x-intercepts of the Graph of the function over the Interval [—57” 37”}

Solution (a):

T T T
——<2XX +=<—
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- <2Xx <0
—£<x <0
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(b): :——” x:—?’—”,x:—z.x:E and =7
4"’ 4 4 4 4

(b): Determine the interval where the function is increasing.
(c): Determine the interval where the function is decreasing.
(d): Determine the coordinates of the lowest point of the graph.

Solution: (a): p_2r_27_
b 2
Phase Shift=x, = —%z - _7[2/4 =Z units to the right
lpz 2 lpz Zz 37
4 4 8 8 4 8
The Key Points are: z 3z 5 Iz Sz 11z
8 8 8 8 8

= x| oa S 7 %1 Ux 1x 1w | 17
N g 7 g 7 : 3 g
—2+
(b): Given x [3—” &} then the function is increasing on [7—”&}
8 8 8 8
(C): Given x e [3—” &} then the function is decreasing on [3—727—71
8 8 8 8
(d): Given x e{% %} then the coordinates of the lowest point is (%1}

uestion 3: (6 points): (a): Sketch the graph of y = 3sin| 2x z +4, X e 3—7[,11” :
Question 3: (6p graph of 'y 1 2
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Question 4: (5 points): (a): Sketch the graph of y =3csc(2x —%)+4 over the interval {%%}

(b): Determine the interval where the function is increasing.
(c): Determine the interval where the function is decreasing.

Solution:
(@:
¥
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(b): Increasing on the intervals: [3—”5—”j and (5—”7—”}
8 8 8 8
(c): Increasing on the intervals: {%ﬂ,%ﬂ} and (%,%}
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